
Section 4 
Use column subtraction 
to solve:

96 - 53 =

Section 3
What number do you reach? 
Count on 4 steps from the 
number 12 in 3s.

Year 3 Autumn 2 Maths Activity Mat 2

Section 1

Section 5 
Write 3 more multiples 
of ten:

30, 90, 70

Section 2
 

Section 8 
What is the value of six 
2p coins?

Section 7
Write a number statement 
for the following:

Find 7 groups of 10Section 6
Circle the largest fraction.

1
4 of 16 =

A = ml

B = ml

1
2 of 28 =
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Section 4 
Use column subtraction 
to solve:

96 - 53 =

Section 3
What number do you reach? 
Count on 4 steps from the 
number 12 in 3s.

Year 3 Autumn 2 Maths Activity Mat 2 Answers

Section 1

Section 5 
Write 3 more multiples 
of ten:

30, 90, 70

Section 2
 

Section 8 
What is the value of six 
2p coins?

Section 7
Write a number statement 
for the following:

Find 7 groups of 10Section 6
Circle the largest fraction.

7 × 10 = 70 12p

43

Answers all in the 10 
times table.

1
4 of 16 = 4

A = 90 ml

B = 30 ml

1
2 of 28 = 14
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Section 4 
Use column subtraction 
to solve:

495 - 128 =

Section 3
What number do you reach? 
Count on 4 steps from the 
number 23 in 4s.

Year 3 Autumn 2 Maths Activity Mat 2

Section 1

Section 5 
Write 3 more multiples 
of 4:

16, 8, 20

Section 2
 

Section 8 
How many triangles can be 
made from 27 straws?

Section 7
Write a number statement 
showing how to work out 
the following:

The number of 4s in 36
Section 6
Circle the largest fraction.

1
4 of 32 =

A = ml

B = ml

1
3 of 15 =
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Section 4 
Use column subtraction 
to solve:

495 - 128 =

Section 3
What number do you reach? 
Count on 4 steps from the 
number 23 in 4s.

Year 3 Autumn 2 Maths Activity Mat 2 Answers

Section 1

Section 5 
Write 3 more multiples 
of 4:

16, 8, 20

Section 2
 

Section 8 
How many triangles can be 
made from 27 straws?

Section 7
Write a number statement 
showing how to work out 
the following:

The number of 4s in 36
Section 6
Circle the largest fraction.

36 ÷ 4 = 9 9

367

Answers all in the 4 
times table.

1
4 of 32 = 8

A = 350 ml

B = 550 ml

1
3 of 15 = 5

39
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Section 4 
Use column subtraction 
to solve:

2579 - 1823 =

Section 3
What number do you reach?

Start at 24.

Count on six fives.

Year 3 Autumn 2 Maths Activity Mat 2

Section 1

Section 5 
Write 4 multiples of 8:

Section 2
 

Section 8 
One glass holds 200ml. 
How many glasses can be 
filled from a 1000ml bottle 
of drink?

Section 7
Write a number statement 
showing how to work out 
the following:

Find the product of 4 and 8

Section 6
Circle the largest fraction.

2
3 of 18 =

3
4 or 7

8

2
6 or 3

12

3
4 or 8

12

A = ml

B = ml

3
4 of 24 =
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Section 4 
Use column subtraction 
to solve:

2579 - 1823 =

Section 3
What number do you reach?

Start at 24.

Count on six fives.

Year 3 Autumn 2 Maths Activity Mat 2 Answers

Section 1

Section 5 
Write 4 multiples of 8:

Section 2
 

Section 8 
One glass holds 200ml. 
How many glasses can be 
filled from a 1000ml bottle 
of drink?

Section 7
Write a number statement 
showing how to work out 
the following:

Find the product of 4 and 8

Section 6
Circle the largest fraction.

4 × 8 = 32 5

756

Answers all in the 8 
times table.

2
3 of 18 = 12

3
4 or 7

8

2
6 or 3

12

3
4 or 8

12

A = 50 ml

B = 400 ml

3
4 of 24 = 18

54
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